asym_usl

asym_dsl

asym_usr

asym_dsr

run6407 000 regression-asvm main

N — —101
8000 —
OO0 - oo
4000 [
2000 - m B0
B |
o
~2000 | 400
N [
-4000
B 20
6000 —
C [
8000 [~ o
[1 1 I 111 I 111 I 111 I 111 | 111 | 111 | L1 1 | 111 | | 0
60 -40 -20 0 20 40 60 B0 100
diff_bpmXum
| | — —'EF'I}[
B |
- — 701
1000
N —60C
500 —
i 500
ol n 40(
[ o 300
~500 —
- 201
~1000 - 100
[ I 1 11 I 11 1 I 1 11 I 111 | 1 11 | 11 1 | 11 1 | 1 11 | l i

-Eﬂ -40 =20 0 20 40 60 BO 100
difi _bpm1Xum

diff _

8000 "
000 —B0(
4000
2000 B0
of
-2000 - 400
~4000 [
6000 - 20
-8000
Coo oo b b bo b b b beaa b o
—E-D 40 =20 1] 20 40 a0 ar 100
diff_bpm1Xum
d.
1500 |- —Boc
B — 700
1000
B — 60
R00 —
5 500
ol
B |
- = 400
~B00 [ 00
[ =
- 200
1000 |
10(
=1500
_I | I 1 11 I 111 I 1 11 I | | 1 11 | 1 11 | 111 | 1 11 | |

40 60 80 100

8000 m —lgor 8000 —(s0C
6000 [ 6000 [ o
B —ool B
4000 | 4000 niks
: : —60(
2000 - 400 2000 m
- S
[ m - 500
o =
[ 300 [
‘= = n 400
~2000 [ ~2000 -
- 200 - 300
~4000 I~ -4000 |-
- - 20(
-6000 — 100 -6000 —
n . N 100
_apo0 = | ~BOOO u
B | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | 11 ﬂ _l L1 1 | 111 | 1 11 | L 11 | L 11 | L1 1 I L 11 | 1 1 ﬂ
-:3.11: 20 =10 0 10 20 an B0 -40 -20 © 20 40 60 8D
diff_ bpmdaYium difi_bpmdaX/um
B I B _
- m —gor [
1500 [ 1500 |~ —80c
C —o0C - —70(
1000 — . 1000 —
[ [ —goc
T | eor N
i 30C i
1] N u (1] N u 400
- . . -
N 200 N 0 300
=200 = -500 [
N C 300
: 10( :
=1000 N 1000 N [ 100
i | L1111 | L1111 | L1 11 | L1111 | L1 11 | L1111 | L1 {' | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 I L1 1 | L1 ﬂ
S0 20 10 ) 10 20 an B0 -40 -20 © 20 40 60 BD
diff_ bpmdaYium difi_bpmdaX/um
difL d.
8000 8000 0t
000 o 000 B
4000 4000 |
[ —{400 [ |
2p00 |- ® 2000 Bot
[ [ 500
0 00 o
C B N
~2000 | " ~2000 40t
C 200 N 0 300
4000 [~ 4000 -
B B 200
~B000 : 10 ~6000 :
8000 |- LI -8000 1ot
Ty v o b b b brraa b 0 I T T N 0
a0 20 -10 0 10 o0 an B0 -40 -20 O©O 20 40 60 8D
diff_ bpmdaYium difi_bpmdaX/um
' — —gor - — —lanc
1500 |- 1500 |-
- - —70c
N —{ 500 N
1000 |- 1000 |-
- - —gor
- Laoc -
500 — B0 — 500
ol 30( ol 400
N = |
C [ m
~a00 :— 200 300 :— 300
- - = 200
~1000 - -1000
- 100 -
- _ 100
~1500 [~ ~1500 |-
| L1 11 | L1 11 | I | 11 | 1 11 IJ_I 1 11 | L1 11 | 11

—EI-D =20 -1

detvs diff ‘bpm=€C

= 2000

=4000

= 6000

- B-[:IDU

v v v b s b by
-31} =20 =10 0 10 20 30 40

diff_bomdeY/um
diff

B —
o [ |
1500 [
1000 [
.
E-I}EI_—
[ m
b
i mE
500 m
~1000 |
_|||||||||||||||||||||||||||||||||||

30 =20 10 1] 10 20 a0 40
diff_bpmday/um

= 2000

=4000

= 6000

=B000

plovvabvrrr b bvrre bvvva beraa b
~30 20 =10 1] 10 20 an 40
difi_bpmdaYium

iff _bpmdeY

9-.

1500

1000

500

-500

=1000

=1500

J_IIIIIIlIIII|IIII|IIII|IIII|IIII|IIII

1.7Z postpan.png

200

100

1]

100

1]

a0

200

100

o

a0

200

100

— 700

= 2000

-4000

= 6000

1 11 | 11 1 1 | 11 1 1 I | I | | 1 11 1 | 1 1
100 _50 0 50 100
diff_bpm12X/um

~8000

°1

[ —|s0r
1500 [~
1000 [~ —lanc
500
- anc
of
- 200
-500
- 10
~1000 |-
_III|IIII|IIII|IIII|IIII|II ﬂ
100 _50 ) 50 100
diff_bpm12X/um
d'
8000 |- 0 —{70L
000
- —lgor
4000
C m
2000 —
of
~2000
4000 [~
~B000 -
~8000 - .
AR T T I
100 _50 ) 50 100

diff_bpm12X/um

91

—45(

1000
—35(

200

- 500

=1000

=1500

==
I|IIII|IIIIIIIIIIIIIIIIIIIlIIIIIII

to v v v v v v g
=100 -50 1] 50 100
diff_bpm12X/um




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6407 000 re

4000 —

2000

2000 —

4000 —

=60 40 =20 0 20 40 B0 BOD 100
diff_bpmXum

91

1500

1000

500

"u

=500

=1000

P

—E-[:I 40 <20 0 20 40 &0 B0 100

difi _bpm1Xum
diff

4000
3000

2000

1000

=1000

=2000

=3000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
|

=4000

[ |
5000 prlvvs borv v bvvar e v b b aa b

-60 40 -20 0 20 40 60 BO 100
diff_bpm1Xum

d'
1500

1000

500

-500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—EA} -40 <20 40 60 80 100

—{70C

500

400

a0c

200

100

— 700

50C

400

a0c

200

100

—{70C

50C

400

300

200

100

—| 700

500

400

a0c

200

100

i —euoc i —eor
4000 — 4000 —
i o I — 7oL
2000 2000 oo
= = LM
o o
i = 400
R R |
B B 30C
2000 2000
- - 20(
| 10C |
_4000 - En _4000 |- 100
_| | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | L1 11 | 11 ﬂ - | L1 1 | 111 | 1 11 | L 11 | L 11 | L1 1 I L 11 | 1 1 ﬂ
=30 =20 =10 (1] 10 20 an =60 =40 =20 (1] 20 A0 [ a0
dilf_bpmda'ium difi_bpmaaX/um
d . d .
u — [ —
- —ﬁ.D]: -
1500 |- 1500 |- —[Bor
B —1500 B —7 0L
1000 N 1000 N
R R 600
B —{400 B
| anc B x A00
1] N .. (1] N
. m B I
: 200 [ anc
=200 = -500 [
| u 200
: 10( :
=1000 N 1000 N 100
i | L1111 | L1111 | L1 11 | L1111 | L1 11 | L1111 | L1 {' | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 I L1 1 | L1 ﬂ
—.':'I-D 20 =10 (1] 10 20 an g0 =40 =20 (1] 20 A0 B0 a0
difi_bpmda¥ium difi _bpmdeXsum
.' -'
_ _ — 800
4000 £ 4000 - .
- —1=0r -
3000 — 3000 -
- - —60(
2000 :— —sor 2000 :—
1000 oo ® i
- - ]
0 u 300 0F m 400
~1000 | m -1000 £ 300
~ 200 =
2000 2000
- = 20(
3000 ~3000
- 100 -
-4000 “u -4000 100
= m = 0 m
-E-DDD_'l""l""l""l""l""l""l" 0 -E-DDDl"""'l"'lllllllllllll”'l" 0
~30 20 =10 1] 10 20 an g0 =40 =20 1] 20 40 B0 a0
dilf_bpmda'ium difi_bpmaeX/um
d . d .
1500 [ 1500 [
- - — 700
B —{ 500 B
1000 1000 |-
B B —G0C
B00 — RO0 — 500
O — L] T m - 40
500 500 - S
- - = 200
=000 — 1000
i 100 i
B n 10C
~1500 r 1500
1 | L 11 | 1 11 | 1 111 | L1 11 | 1 11 | | 1 11 | | 11 | 1 1 |J_ 111 | 1 11 | 11 | | L 11 | |

indet-vs diff’

gressmn'" “““1’02 main

h 20

pm-€

2000

~ 2000
100
4000
IIIIIII|IIII|IIII|IIII|IIII|IIII|IIII D
30 -20 10 O 10 20 30 40
diff_bomdeY/um
I
|
— 600
1500
—50(
1000

500

0

- 500
100

=1000
oo by by by b g by laaag 0

—.'EH} =20 =10 1] 10 20 a0 40
diff_bpmday/um

diff_bpmdeY

4000

- —500
3000
2000

o _-‘H}[
1000

oF
-1000 |
-2000
~apoo |

- 100
-4000

T TN T T T AT Y
=5000 30 =20 -10 0 10 20 a0 40 o

diff_bpmdaY/um
diff_bpmdeY

1500 |

. —50c
1000 |-

C —ant
.':'rI}D_—

o 00
-500 |- 200
_1000 [

- 100
-1500:—

IIIII|IIII|IIII|IIII|IIII|IIII|IIII

-30 =20

- postpan:pne

i —sor
4000
i —lanc
2000
] 300
D -
i 200
~2000
- 100
~4000 |
_I 1 1 | L1 11 | | I | I L1 1 1 | L1 1 1 | L1 ﬂ
- 100 50 ) 50 100
diff_bpm12X/um
d .
B —{500
1500 [~
1000 :— —anc
500 N 00
of
. 200
-500
: 100
~1000 [
_I L1 | L1 1 1 | L1 11 I L1 1 1 | L1 1 1 | L1 ﬂ
100 50 ) 50 100
diff _bpm12X/um
-
: —1500C
4000 —
aoon F _
F u A0
2000 —
1000 00
of ™
~1000 | 300
~2000 0
~ao00 | 100
-4000
a [ |
AEEEEEEEE N e N
=5000 -100 -50 o 50 100 0
diff_bpm12X/um
d .
1500 [ e
. —la0c
1000 |-
- —{a5(
500
of
500
~1000 |
~1500 |
L 1 1 | L1 11 | | I | I L1 1 1 | L1 1 1 | L1

-100 -50 1] 50 100
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

%

bpm1X

- h %</ ndf 18.42 /22
4000
- p0 —0.5891+ 7.1608
3000 F }
2000 :_ ] } pi 5193 +£0.71
; .
1000 =
0
~1000 }
: # |
-2000 [ dH‘
3000 _
:III|III|III|III|III|III|III|III|III|II

-60 -40 <20 O

91

iff_bpm1X

200 40 &0 80 100

I - y2 | ndf 16.26 / 22
600 —

i p0 0.1556 + 1.3449
a0 pl  —0.09942 + 0.13143
200 |- |

T “{[ﬁ'”“"““"""*”ﬁ |
=200 — ~
—4-|}|:I'I—II|III|III|III|III|III|III|III|III|II

-60 -40 20 0O

20 40 &0 80 100

diff_bpm1X

¥2 [ ndf

p0 16.95 + 7.66

p1 5567 £ 0.76

17.18 /22

2000

- d
2000 —
;

=4000

-60 -40 20 O

200 40 &0 80 100

:_ %2/ ndf 31.84 /22
200 | 00 _1.948 £ 1571
ﬂ:_ ] H1| o P! ~0.318320.1543
i " _
—EE'D:— )
-mnf—
-EﬂDf—
:..'|...|...|...|. e Lo b Lo L

run6407 000 regress

ressio

200 40 60 B8O 100

diff_bpmdaY

7=/ ndf 27.92/36

po —0.4417 = 7.5553

p1 2401 1.26 HH“

-EH} =20 =10 0 10 20 30

diff_bpmdaY

[ w2 [ ndf 31.22/36
600 —
i p0 —0.0356 = 1.3449
400 B p1 -0.2472 £0.2238
200 )
_son b | i
—-‘H}D [T 1 | L1111 | L1111 | L1111 | L1111 | L1 11 | L1l 11 I L 11

=30 =20 =10 0 10 20 30

diff_bpmdaY

x?/ndf  38.49/36

p0 21.76 £ 8.14 *

p1 12.68 £ 1.35 *

o

=500

=1000

=1500

=2000

plovva b vv v bv e v bvvra b b
=30 20 =10 (1] 10 20 an

diff_bpmdaY

-2500

22 / ndf 7.8 / 36
pO _2.009 + 1.575 |
p1  0.1251+ 0.2627
[ | ]
o wmmhﬂhwﬂwﬁﬁw
—E{?D_— _L * H -
—*H}D-—
_||||||||||||||||||||||J_|||||||||I|||

a0 -20 -1

“asvm maindet vs

E

4000

3000

2000

1000

=1000

=2000

=3000

g

600

400

200

=200

bpmdeX

_ - 72 ndf 18.42 / 24
_ PO 0.3042 £7.1984
3 [\ o1 _54.35 + 0.78
w
-

S TR R P R R

=60 =40 =20 0 20 &0 B0 B0

[ - %2 i ndf 18.49 / 24
i p0 0.2545 + 1.3441
B p1 —0.07144 £ 0.14335
e

H
: p“ Hi}
:l L1 1 | L 11 | L1 1 I L1 1 | L1 1 | L1 1 | L 11 | [ |
60 40 20 1] 20 40 &0 a0

diff_bpmdeX

x2 / ndf 1217/ 24
p0 17.31+ 7.61
p1 64.01+ 0.83 "
2000 f— ++++’i1J'|+ |
=2000 f— HW
=4000 f— _

|

-60

diff

400

200

- 200

-400

-600

diff ‘Hbpm-fit

40 =20 1] 20

40 &0 8O

_bpmdeX

%2/ ndf 2517/ 24
PO -1.929 + 1.570
; pl  —0.3162 £ 0.1685
w + "

dlthpméleY

¥ < ndf 33.5/32
pO 0.01563 + 7 54891 B
p1 2917 £1.24
1000 |- hjﬂ[ }
: i -
ob { Jf# } |
C - v“ A
~1000 1
-2000 |- P
~3000 |-

diff_bpmdeY

600

400

200

- 200

=400

diff_bpmdeY

30 <20 10 0 10 20 30 40

) %2/ ndf 45.22 7 32
p0 —0.2638 £ 1.3471
pl -0.227 £ 0.220

30 =20 10 0 10 20 30 40

v /ndf 3497/32
p0 23 + 8.1 |*
p1 16.29 + 1.34 } _
[ 4 H .
ﬂ:— - 1 {Mﬁlﬂ
Sl \M -
-mnn:— -t H {
-E{}Dﬂf— |

diff_bpmdeY

30 =20 10 0 10 20 30 40

¥ | ndf £9.96/ 32
p0 —1.906 + 1.578
p1 0.08707 + 0.25927 t
- | ”
of W}ﬁﬁ%«wﬁm
i H {
200 ~
400 i
-III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

=20 =10

postpan.png’

6000

4000

2000

=2000

~4000

~6000

L y2/ndf  50.46/ 42

- M‘N]LJ; p0 -11.25+525

-

i M*h p1 -43.74 £ 0.20

E "y i,

: i

: +H+

:l 1 1 | 1 1 1 1 I 11 1 1 | 1 1 1 1 I I | | 1 1 1
=100 0 50 100

diff_bpm12X

—0.5216 = 1.3430

0.04035 = 0.05056

38.01 /7 42

¥2 / ndf
pO
p1

of 1 ﬁ
—E{?D_— {
-mn-— |

6000

4000

2000

=2000

=4000

~6000

Wﬁ{w '

=100 1] L) 100
diff
: } “_ ¥2/ndf  36.77/42
; HHﬁ PO 11.21+£5.34
[ Hy
- b p1 -48.87 £ 0.20
. e,
a *#ﬁh
:I (AN T TN T T T N T N T T T I B
=100 1] 5 100

%
E

200

- 200

-400

- 600

——
1
t

—_
t

hﬁ o

¥2 { ndf 47.68 / 42
pO -1.303 £ 1.570

p1 —0.03036 + 0.05862

"ﬂv'w'“

-100

0 50 100



diff bpm1X

%2 | ndf 29.88 /22
p0 -9.485 + 4.567
}
Pl 0.1437 £0.4493 HHNJ‘
500 ‘ *
reg_asym_usl |
g— y — 1500
~2000 — )
~2500 —
:III|III|III|III|III|III|III|III|III|II
-60 40 <20 0 200 40 &0 80 100
diff_bpm1X
- - %2/ ndf 16.46 / 22
600 —
: pO 0.09155 + 1.34454
400 —
I p1 ~0.0307 £ 0.1314
200~ |
reg_asym_dsl . “ﬂn" !
=200 :- )
—mD;IIlIII|III|III|III|III|III|III|III|II
60 40 20 O 20 40 80 80 100
diff_bpmlX
1500 =
i %2 { ndf 28.9/22
1000 - _ po 6.967 + 4.609
p1 -0.4317 + 0.4549
500 — ‘1
reg_asym_usr o4 et
-EQDE-
=1000 }- )
bl o by by b by s by b L
g0 40 20 O 20 40 &0 8O 100
diff_bpmi1X
400 —
i %2 1 ndf 32.33/22
200 - | pO ~1.92+ 157
ol _ HJMM pl  -0.08826 + 0.15433
d - 200 _
eg_asym_ds :
—EﬂDE—

run6407 000 reg‘i‘essmn_

-4 -20 0 w2 40 60 80 100

%

bpm4aY

diff_bpmdeX

- 2 | ndf 22 67 /36 ¥ I ndf 26.9 / 24
1000 —
- p0 ~-7.999 + 4575 pD —9.378 + 4 566
- s
500 pi ~0.339 + 0.760 p1 0.08056 + 0.49013 u
[ - ‘ 500 |
of M{TWWJr | - -
- | 1000
o0 - : ~1500 }
i 2000 |-
=1000 — N
i ~2500 [
:|I|IIII|IIII|IIII|IIII|IIII|IIII|III :ll_llllllllIIIIIIlIIIlIIIlIIIlII
=30 =20 =10 0 10 20 30 =60 =40 =20 0 20 40 60 iTH
diff ' bpmdaY = diff_bpmdeX
2 | ndf 31.58/ 36 - - %2 / ndi 18.31/ 24
600 —
pd  —0.09575 + 1.34454 - pa 0.1954 £ 1.3438
p1 0.0752 + 0.2236 400 pl  —0.003399 + 0.143327
B : |
200 -
R | 200 —
D_ ‘PLH{&I- + =+ W - } + ‘I' +| -
I H 1} - ol WWTH
: - j }{H i}
~200 i -
: =200 — )
_WDI_IlIIII|IIII|IIII|IIII|IIII|IIII|III :lll_l|III|III|III|III|III|III|II
-30 20 =10 0 10 20 a0 -60 40 =20 0 20 40 60 a0
diff bpm4aY  diff_bpmdeX
¥2 / ndf 39.78 /36 [ - ¥2 [ ndf 25.15/ 24
1000 —
p0 8.073 + 4.613 R p0 6.406 = 4.607
p1 0.2139 + 0.7708 500 - p1 ~0.5046 + 0.4961
SO0 - | - |
S| b dH ] o mw{ﬂ ‘
ﬂ: ’ hﬁhﬂ“ﬁ&ﬁ“ﬁ#ﬁ%ﬁﬁﬂﬂﬂﬁpﬂﬂﬂ}h _ - - H 1
_.S'DD __ B -
- ~500
~1000 |- i
: ) _1000
=500 v v v b b b b bir g by T A RN T || trl il
-30 20 =10 0 10 20 30 -60 40 =20 0 20 40 B0 LTH
diff ' bpmdaY = diff_bpmdeX
400 —
% | ndf 37.03/ 36 2 2 | ndf 25.48 | 24
p0 —1.968 + 1 574 200 - pO -1.901+1.570
p1 0.04683 + 0.26257 | L ww fa .| Pl —0.06225 + 0.16845
- T B -I- 1 | -
A Y re— 3 |
T -
- - } + M -200 -
-EﬂD—_L { H_ 400 -
400 ~600 :—
II|III IIII|IIJ_LlIIIIlIIIIlIIIIIIII —_llllJ_Illllllllllllll |III|II

reg malri{’det

dlf

Gkl

diff_bpmdeY

%2 [ ndf

p0

p1

-9.081 £ 4.584

0.2488 = 0.7496

39.859 /32

500

=500

=1000

[‘_

I

“WW*M il

_30

20 =10 0 10 20

30 40

diff_bpmdeY

%= { ndf 4572/ 32
p0 -0.3235 £ 1.3468
p1 0.068 = 0.220

200 |- F

ol
soob |
—4ﬂD'r

diff_bpmdeY

%2 / ndf
p0

p1

-30

9

0.2048 = 0.7623

20 =10 0 10 20

30 40

38.51 /32

039 = 4.624

1000

500

1]

=500

= 1000

-I-IIIIIIIIIIIIIIIIIIIIIIIIII

=1500

_H}

([P

}}

|

|

j

diff_bpmdeY

400

200

- 200

~400

=
1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I

-30

20 =10 0 10 20

30 40

32/ ndi

p0

3012/ 32

-1.B67 £ 1.578

~0.001584 £ 0.259177

Ww‘*w“ww H

t_postp

=30

-20 =10

an.png

0 40

%

2500

2000

1500

1000

200

-500

=1000

=1500

= 2000

bpm12X

¥Z { ndf 2057/ 42
pO —-9.805 + 4.568

p1 —0.04337 + 0.17184

Wmﬁwﬁlm

W

=100

-50 0

50 100

diff_bpm12X

%=/ ndf 37.65 /42
p0 —0.5754 £1.3426
p1 0.0269 = 0.0505

- I |
of I ﬂ
- 200 [~ *
400 —

Wﬁi

_‘_

=100

-50 0

50 100

diff_bpm12X

12 / ndf
p0

pi

41.5/42

7.294 = 4.609

0.2369 £ 0.1725

- 500

=1000

=1500

=2000

=

¥ 1

i

diff

=100

-50 0

_bpml12X

50 100

400
i ¥2 / ndi 47.39 | 42
:mn_— ) po -1.272 + 1570
L] { {H , Bl —0.008338 + 0.058602
D_ b i LA T
I _ H%“'T’F“t“”'* il |F|‘
- 200 -
| + s )
- 400 -
~600 -
_I I-I | | I I | I | I T | | 1 1 1 1 I 1 1 11 | 1 1 1
~100 -50 0 50 100




asym_usl

asym_dsl

asym_usr

asym_dsr

run6407 000 re

8000

6000

4000

2000

=2000

-4000

~6000

=8000

=60 40 =20 0 20 40 B0 BOD 100
diff_bpmXum

1500 =

1000 —

500

500 —

=1000 [~

-60 40 -20 0 20 40 60 8O 100
difi _bpm1Xum

8000

6000

4000

2000

=2000

=4000

~6000

~8000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-60 40 -20 0 20 40 60 BO 100
diff_bpm1Xum

iff bpmlX

1500

e

1000

500 |
500

=1000

=1500

-60 -40 20 40 60 80 100

8000

6000

4000

2000

=2000

~4000

~6000

8000

1500

1000

500

- 500

=1000

8000

6000

4000

2000

=2000

=4000

~6000

~8000

1500

1000

500

=500

=1000

=1500

2ressmn'" ~asSym main

BT R T S— 10 20 a0
diff_bpmda¥ium

=30 =20 =10 1] 10 20 a0
diff_bpmda/um

BT R T S— 10 20 30
diff_bpmdaYium

_I|IIII|IIII|IIII|IIIIJ_IIIIlIIIIlII

=30 =20 -1

8000

6000

4000

2000

= 2000

~4000

~6000

8000

1500

1000

500

=500

=1000

8000

6000

4000

2000

=2000

=4000

~6000

~8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

2F
5

2F
5

1500

1000

500

- 500

=1000

=1500 —

det“vs d

L1 1

-

'mb])

4ﬂ ﬁﬂ 80

ms=sca

8000

6000

4000

2000

= 2000

=4000

= 6000

= 8000

| I 1111 | 1111 | 1 111 | 1111 | 1 111 | 1111 | 1 111
30 -20 10 O 10 20 30 40
diff_bomdeY/um

1500 -

1000 —

500

500

= 1000 —

cad v by e s by by s by g i
30 =20 10 0 10 20 30 40
diff_bpmdea¥ium

8000

6000

4000

2000

= 2000

=4000

= 6000

=B000

plovvabvrrr b bvrre bvvva beraa b
~30 20 =10 1] 10 20 an 40
difi_bpmdaYium

1500

1000

s00 |
500

=1000

1500 |-
1

- postpan:png

6000

4000

2000

= 2000

-4000

= 6000

~8000

1500

1000

500

-500

=1000

8000

6000

4000

2000

=2000

=4000

~6000

~8000

1500

1000

200

- 500

=1000

=1500

100 _50 0 50 100
diff_bpm12X/um

=100 -50 1] 50 100
diff_bpm1 2X/um

100 _50 0 50 100
diff_bpm12X/um

-100 -50 1] 50 100
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6407 000 regression

4000 —

2000

2000 —

4000 —

40 60 B0 100
diff_bpmXum

1500

1000 —

00—

500 —

=1000 —

40 60  BD 100
difi _bpm1Xum

4000
3000
2000

1000

=1000
=2000
=3000

=4000

=5000 40 B0 BD 10D

diff_bpm1Xum

1500 —

1000 —

500 —

-500 —

1000 —

=1500 —

-60 -40 20

1
EH}
fi_bpm

I
20 -0 0 10 20 30 40
diff_bomdeY/um

|
=20 =10 1] 10 20 a0 40
diff_bpmday/um

4000 4000 4000 |-
2000 2000 2000 |-
0 = =
2000 2000 - 2000
4000 4000 |- - 4000 |-
_l 1 11 | 1 11 | 1 11 | 1 11 | 1 1 | I | | I
80 40 -20 0 20 40 60 80 30
diff_bpmdaYium diff_bpmdeXium
. . .
B — B — N
1500 1500 |- 1500 |-
1000 1000 | 1000 [
500 500 500 [~
0 0 o
_500 _500 -500 |
1000 1000 ~1000 |
Lo 1]
80 80 a0
difi_bpmda¥ium difi _bpmdeXsum
. . .
4000 : 4000 | 4000
3000 | 3000 3000 |
2000 2000 2000 |
1000 1000 | 1000 |-
oE o o
1000 - ~1000 ~1000
~2000 -2000 -2000
~3000 ~3000 | -3000
-4000 4000 RO 4000
—E-DDD:' -E-DDD:|"'|"'|"'|"'|" I | -EDDU;'I
30 80 40 -20 0 20 40 60 80 a0
diff_bpmdaYium diff_bpmdeXium
. .
B — B — N
1500 [ | 1500 [ 1500 |
1000 1000 - 1000 [
500 500 | s00 |
of of of
500 500 - 500
~1000 | ~1000 | ~1000 |
~1500 | ‘ -1500:— -1500:—
1 | 1 111 | 1 11 | 1 111 | 1 | | 1 1 | 1 11 | 1 1 | 1 11 I 1 1 |

aindet-vs diff b

—E[? 4{? 60 -El-{:I

pm-scat post

I
20 -10 O 10 20 30 40
diff_bpmdaY/um

—E{? —‘H}

pan.png-

4000 —

2000 —

=2000

=4000 —

1500 —

1000 —

00—

500 —

=1000 —

_50 0 50 100
diff_bpm12X/um

4000

3000

2000

1000

=1000

= 2000

=3000

=4000

-50 1] 50 100
diff_bpm1 2X/um

~-5000 M

1500 —

1000 —

500 =

-500 —

=1000 =

=1500 =

_50 0 50 100
diff_bpm12X/um

-50 1] 50 100
diff_bpm12X/um



